
www.vvacademy.com         for free material click  https://www.t.me/+ImPB0BcWstNkY2Nl    
9985525552/8977525552

 

 

V V ACADEMY -GDS TO MTS/PM/MG AND MTS TO PM/MG PREVIOUS PAPERS 542 

 

GDS TO PM/MTS UTTARPRADESH CIRCLE-2023 
(1.) An official Parcel containing more than on written communication what action can be letter for inland 

transmission? 
(A.) It will be forwarded its destination marked for open delivery 
(B.) Each such written communication shall be charged on delivery with double the letter postage 
(C.) It is allowed for transmission 
(D.) It will be returned to sender 

(2.) Which of the following is correct? 
(A.) For providing postal services, the whole country has been divided into 23 Postal Circles 
(B.) Postal Services Board is the apex management body of Department of Posts 
(C.) Both A & B 
(D.) None of the above. 

(3.) Post Offices in charge of Gramin Dak Sevaks are kept open for a maximum period of 
(A.) 5 Hours only (B.) 4 Hours only 
(C.) 3 Hours only (D.) 8 Hours only 

(4.) What is the rate of Meghdoot Post card? 
(A.) Rs. 0.50 (B.) Rs. 0.25 (C.) Rs. 1.00 (D.) Rs. 6.00 

(5.) Which of the following particulars in the address is optional? 
(A.) Name of the addressee (B.) Name of the District 
(C.) Mobile No (D.) PIN Code 

(6.) In the case of articles addressed to foreign countries, the address should be written- 
(A.) In Roman letters and in Arabic figures 
(B.) In Arabic letters and in Roman figures 
(C.) In Roman letters and figures only 
(D.) In Arabic letters and figures only 

(7.) Which one of the following pair is wrong? 
(A.) Head of the Circle Chief Postmaster General 
(B.) Head of the Division - SPDT of Post office 
(C.) Head of the Region- Postmaster General 
(D.) Head of the Post office - Senior Postmaster 

(8.) The following cannot be booked at mobile post office 
(A.) Registered Article (B.) Air Mail Registered Article 
(C.) Insured mail (D.) Air Parcel 

(9.) One of the following is written on the mail send to Army and Air force? 
(A.) PIN code (B.) Destination Place 
(C.) C/o 56 APO or 99 APO (D.) Zip Code 

(10.) Which one of the following statement is incorrect regarding duties of letter box peon? 
(A.) Head has the duty of clearance of the Letter Box 
(B.) He will upload the data in Nanyatha App 
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(C.) He will change the hour’s plate with new one  
(D.) None of these 

(11.) Once after the letter box clearance, Letter box peon should handover the letter box keys to….. 
(A.) The responsible assistant (B.) The Postmaster 
(C.) Either A or B (D.) Keep with himself 

(12.) What is the postage chargeable on a delivery of official letter cards when the postage is not prepaid? 
(A.) Single deficiency 
(B.) The prepaid rate 
(C.) Double the letter postage rate 
(D.) Treated as letter and chargeable on prepaid rate of letter 

(13.) What is the insurance fee for retail customers of articles insured value up to Rs. 200/- 
(A.) Rs. 10/- (B.) Rs. 14/- (C.) Rs. 4/- (D.) Rs. 17/- 

(14.) In connection with Post Office Recurring Deposit Account (RD), which of the following is not correct? 
(A.) Account can be opened by cash/cheque  
(B.) Minimum amount of monthly deposit is Rs. 100 and above 
(C.) Account can premature closed after 3 years from the date of opening 
(D.) RD account can be retained up to 10 years from the date of maturity without deposit also. 

(15.) One Kisan Vikash Patra for Rs. 50000 opened on 30.12.02021 will mature on 
(A.) 30.12.2031 (B.) 30.04.2033 (C.) 30.04.2030 (D.) 30.06.2031 

(16.) Rural Postal Life Insurance was introduced in………….for rural people of India 
(A.) 24.03.1991 (B.) 24.03.1993 (C.) 24.03.1995 (D.) 01.02.1984 

(17.) The first class Head office situated at the Headquarters of the Head of a circle or where there are more than 
one such Head office attached to the Headquarters, is termed………… 
(A.) Head Post office (B.) General Post office 
(C.) Divisional office (D.) Regional office 

(18.) Any post office which is situated on a line of through mail communication and received and sorts bags 
Intended for offices in advance without opening them is called…………. 
(A.) Branch office (B.) Transit office 
(C.) Sub Post office (D.) Sorting office 

(19.) For avoiding of unnecessary movements of bags, the new system of bag accounting has been Introduced 
classifying PO/RMS office into….. 
(A.) District Bag Office (B.) Bag Office 
(C.) Circle Bag Office (D.) Central Bag Office 

(20.) ……..Orders are orders Issued by a Superintendent RMS prescribing in sorting list 
(A.) A Orders (B.) B Orders (C.) C Orders (D.) D Orders 

(21.) ………….bags is used to enclose the office files and other official papers 
(A.) Special Bag (B.) Due Bag 
(C.) Camp Bag (D.) None of above 

(22.) A Branch office situated in a town or its suburbs where there is also a Head office is called as……….. 
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(A.) Sub Office (B.) Town Branch Office 
(C.) Head Office (D.) Parcel Office 

(23.) D section of Postal Directorate works as…….. 
(A.) Circle Bag Office (B.) District Bag Office 
(C.) Unit Bag Office (D.) Central Bag Office 

(24.) Which of the following is related to night Post Office? 
(A.) Head of the division grants its permission 
(B.) It means the neon signboard glowing during the night 
(C.) These Post offices closed on Sunday 
(D.) Circle Head grants the permission for extra time 

(25.) Which of the following is related to Mobile Post Office? 
(A.) Its based on the technology of mobile 
(B.) These Post offices don't sell stamps 
(C.) These Post offices don't have the facility to book Money orders 
(D.) These Post offices closed on Sunday 

(26.) Which one of the following can't have permission to establish a letter box? 
(A.) Steamers (B.) Bus Stand 
(C.) Aeroplane (D.) Mobile Post office 

(27.) After how many days Postmaster may send notice to not clear the post box? 
(A.) 15 days (B.) One Month (C.) 30 days (D.) One week 

(28.) What is window delivery? 
(A.) To deliver letter at the window of the address 
(B.) Give the delivery at the post office 
(C.) To refuse the delivery 
(D.) Choose cash on delivery during delivery 

(29.) Which of the following have concession rates on the postage fee? 
(A.) Letter addressed to President 
(B.) Letter addressed to Postal Divisional head 
(C.) For religious contents 
(D.) For blind literature 

(30.) Which one of the following cannot be booked at post office? 
(A.) Medicines (B.) Plague culture 
(C.) Tuberculosis sputum (D.) Sulfuric Acid 

(31.) Which one of the following contains sufficient quantity of Vitamin A? 
(A.) Carrot (B.) Sunlight (C.) Lemon (D.) Chili 

(32.) Who defeated Marathas in the third war of Panipat? 
(A.) Aurangajeb (B.) Nadirshah 
(C.) Ahmad ShahAbdall (D.) Raja Jai Singh 

(33.) When did war of Buxer happen? 
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(A.) 1764 (B.) 1765 (C.) 1759 (D.) 1757 
(34.) Kathakali originated in which state of India? 

(A.) Uttar Pradesh (B.) Maharashtra 
(C.) Madhya Pradesh (D.) Kerala 

(35.) Where did Lord Buddha get Pariniran? 
(A.) Bodhgaya (B.) Sarnath (C.) Patliputra (D.) Kushinagar 

(36.) Who established Brahm Samaj? 
(A.) Swami Dayanand Saraswati (B.) Raja Ram Mohan Ray 
(C.) Ishwar Chandra Vidyasagar (D.) Swami Shradhanand 

(37.) Which of the following is script of Punjabi language? 
(A.) Punjabi (B.) Gurumukhi (C.) Devnagari  (D.) Dogri 

(38.) Lohari festival celebrates in which of the Indian month? 
(A.) Magh. (B.) Falgun (C.) Chaitra (D.) Baisakh 

(39.) When does International Yoga day? 
(A.) 30 April (B.) 21 June 
(C.) 23 September (D.) 23 January 

(40.) Where does Chilka lake situated? 
(A.) Manipur (B.) Uttar Pradesh 
(C.) Odisha (D.) Arunachal Pradesh 

(41.) A can do a piece of work in 5 days and B in 4 days. How long will they take to do the same work when 
working together? 
(A.) 3 2/9 (B.) 2 2/9 (C.) 4 1/3 (D.) 9 

(42.) What is 40% of twice of 150? 
(A.) 160 (B.) 120 (C.) 80 (D.) 60 

(43.) What is 20% of 30% of 300? 
(A.) 18 (B.) 6 (C.) 180 (D.) 60 

(44.) A certain sum doubles in 8 years at simple interest. The same sum will become four times in 
(A.) 16 years (B.) 20 years (C.) 32 years (D.) 24 years 

(45.) 20 chocolates cost Rs.320. Find the cost of 35 such chocolates? 
(A.) 500 (B.) 560 (C.) 640 (D.) 700 

(46.) A Contractor has the target of completing a work in 40 days. He employed 20 persons who completed % of 
the work in 10 days and left. The number of persons he has to employ to finish the remaining part as per 
target is 
(A.) 20 (B.) 40 (C.) 30 (D.) 10 

(47.) A dealer marks his goods 20% above cost price. He then allows some discount on it and makes a profit of 
8%. The rate of discount is 
(A.) 6% (B.) 10% (C.) 4% (D.) 12% 
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(48.) A man travels 600 Km by train at 80 Km/hour, 600 Km by ship at 30 km/hour, 500 Km by aero plane at 
400 Km/hour and 300 Km by car at 60 km/hour. What is the average speed (Km/hour) for the entire 
distance? 
(A.) 63 (B.) 62 7/27 (C.) 56 7/27 (D.) 59 7/27 

(49.) A fruit seller buys 100 kg of superior variety of mangoes at Rs. 45 per kg and 200kgs of inferior variety at 
Rs. 40 per kg and sells all the mangoes at Rs. 45 per kg. The profit percentage of the fruit seller is 
(A.) 22 2/9 (B.) 12.5 (C.) 8 (D.) 25 

(50.) Find the value of 22-[23-{24-(19-25-30)}] 
(A.) 59 (B.) 65 (C.) 36 (D.) 69 

 

GDS TO PM/MTS UTTARPRADESH CIRCLE-2023 KEY 
ANSWER 

(1.) C (2.) C (3.) A (4.) B (5.) C 
(6.) A (7.) D (8.) C (9.) C (10.) D 
(11.) C (12.) B (13.) A (14.)  (15.) B 
(16.) C (17.) B (18.) B (19.) B (20.) A 
(21.) C (22.) B (23.) D (24.)  (25.) D 
(26.) C (27.) D (28.) B (29.) D (30.) D 
(31.) A (32.) C (33.) A (34.) D (35.) D 
(36.) B (37.) B (38.) A (39.) B (40.) C 
(41.) B (42.) B (43.) A (44.) D (45.) B 
(46.) A (47.) B (48.) D (49.) C (50.) A 

 

 
 
 
 
 
 
 
 
 


